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Min
¥

X X YEY DAY 2 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 2,000
202 O4dl 4,500 5,000 A 500
= 4,500
01 = LH 4 Hl 4,500 5,000 A 500
OnAEYe xW 4,500
= 4,500
IIE2AHESEARHE BHXA 14,170 13,285 885
= 14,170
201 LBt2E| 6,970 6,285 685
= 6,970
01 At 22l 6,970 6,285 685
ONEAAHSE AR 22/ 6,970
dutx2Hl (8, o) 3,320
= 3,320
dot~2Hl (2F) 1,763
= 1,763
SAH(28) 1,887
= 1,887
202 Oddl 7,200 7,000 200
= 7,200
01 = LH 4 Hi 7,200 7,000 200
ONFZAHSE = UHAEHI 7,200
2LobI(S. &) 4,800
= 4,800
oY (23) 2,400
= 2,400
& L 2ZL e 2,294,653 1,191,399 1,103,254
= 311,857
< 38,206
Al 1,944,590
2RF NZHFE 213,628 205,994 7,634
DEUANLERE NBERSE 10,636 7,036 3,600
201 LBH2E| 8,636 5,036 3,600
01 At 2t 2l 8,636 3,036 5,600
ONHEERZEY =2 303,600& 102 X 3,036
OXNEZZIIEE &X 140,000& *40& 5,600
202 O4dl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OXNEHS HEXZA 20,0003 x5%H 202! 2,000
ANE=SHWBAL & EXNO0IS KA 202,992 198,958 4,034
101 1244 dl 16,032 14,458 1,574
04 D12t Z2XREES 16,032 14,458 1,574
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S o
M NN QL 2s4 B
el BIRSF NHHFAH (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNHEIEE LHEA 66,800 x2H 120 16,032
202 oddl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
OXNZ=2d) AXAAM L NFINEHLME
A 20,0003 x2H 75 3,000
403 MHXISHHE X201 & 160,000 170,000 A 10,000
02 S 2SO HEAE R 2 E AL B 160,000 170,000 210,000
OXZ(UoHE FAAZHALY
100,000& = 1,6000H 160,000
405 XH&HE S HI 23,960 11,500 12,460
01 et EZFH S 23,960 11,500 12,460
OXNAEAND 2855I A ¢
23,960,000 = 1CH 23,960
=019 HAHESE I8 NEBHIA 554,890 587,910 A 33,020
= 238,000
< 10,806
Al 306,084
NEHEAL AHS 280,870 402,310 A121,440
201 LB-2E| 44,870 46,310 A 1,440
01 At 22l 35,810 40,310 A 4,500
OXETH= AL L3 H| 4,500
OXNAETHEZAL AR 29
500,000 3 K| + 1,500
OZHEAE &34 ¢ 3,000
OZZF3 3 Ud =28 2,000
OZH3 &4F 2BEIL4E
50,000& 350 X 17,500
OXNETHE=AMRARAS = 70,0003 x5H +33| 1,050
OZHZ2ERAS = 70,0003 x6H *33] 1,260
OZHEBE =22 500,000& x10& 5,000
02 =24l 9,060 6,000 3,060
OXNETHEAL REE &5
2,000 *3H K| 72 *350H »4 3] 8,400
OZHY HEZE 2D Sl
55,000& 1201 & 660
202 04l 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OXEM=A &K= A 4,000
OMEASSAAMN & ZAHBS 1,000
OEXNARI SN 27 L ZHZZH (&
2l) 1,000
301 et a =z 230,000 350,000 A 120,000
12 JIEtEA 3 230,000 350,000 A120,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
020178 XNETWEZAAMY ZEZ XS 30,000
0201849 XNEMEAMAIYE &S K= 200,000
KN ETHEZALALY =& 238,000 185,600 52,400
= 238,000
201 Let24dH] 238,000 185,600 52,400
= 238,000
01 At 22l 238,000 185,600 52,400
OXNEM=A =] 238,000
= 238,000
NEIJIEE NASKAH dHE A Y 36,020 0 36,020
< 10,806
Al 25,214
201 ¢et24] 36,020 0 36,020
< 10,806
Al 25,214
01 At 22l 36,020 0 36,020
ONHINEF(S8E) 2= 36,020
< 10,806
Al 25,214
SUHEE 29 1,360,838 222,730 1,138,108
< 27,400
Al 1,333,438
C2HE Y ASHS BHAY 847,678 117,570 730,108
201 et 85,280 13,890 71,390
01 At 22l 83,300 13,890 69,410
OE2d=A E2= MEH 10,000
OEH=ARARE 4 ¢
70,0003 »7H *32 1,470
OXNge3s & ¢ 70,0003 *3H 23] 420
OkLzg=ax B =9 MH
50,000& 3000 2 +23| 3,000
O=clsll T2 =4 oHHE £X
55,000 *4220H 2~ 23,210
OE2g=4 HUHE HMZE 1,100& %40,000% 44,000
OEZ2E =4 HRFA E204lHI
8,000& x3H +50 1,200
02 =24l 1,980 0 1,980
OADIE KAIS 20| Sl
55,000 301 12 1,980
202 4 Hl 6,000 3,000 3,000
01 = LH 4 Hi 6,000 3,000 3,000
OE2g=A HRFA 0l 4,000
OE2HE=4 QHHAIE EXIUaX XA O
=l 2,000
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SN 2

My NE Y RSN B
o9l ZAIS 2Y CEEEED
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 563,500 85,100 478,400
01 A& HI 563,500 85,100 478,400
OdlolME T2 SHUHAIE=ES £X
2,500,000& =74 2 17,500
OERHUHAIEES MEZAL ES
60,000,000& =14 60,000
OdE T2HE &= 120,000 *3009H & 36,000
OE2d LHHD 1,000, 000& *1009H £~ 100,000
OE=ZY ot Ale] T2 HXE WH 350,000
403 MtXISHH S0l & 192,898 15,580 177,318
02 S 2SO HEAE X E AL 192,898 15,580 177,318
OZ22g=A JI2t RAES(AMHIRES) 4,108
CE2HFA FEALE S22 (AMHIREER) 15,490
O=XXNE8x =3 HMIA(AHIRES)
346,600,000 *1/2 173,300
S2UAZEANAE 25 2H 355,160 105, 160 250,000
201 €24l 105,160 105, 160 0
01 At 2t 2/l 5,160 5,160 0
O323E 29l 5,160
02 2324l 100,000 100,000 0
OE=2% XNotAMESANAYE RAES 75,000
OINSAFEANLY RRNES 25,000
207 RO H] 250,000 0 250,000
02 & LRI 250,000 0 250,000
OSUHEEANAE DE3H AHY 250,000
C2Y Y HBHS 20HMY FA 158,000 0 158,000
< 27,400
Al 130,600
401 AIEHI L 2 CHYI 158,000 0 158,000
< 27,400
Al 130,600
01 A& tl 158,000 0 158,000
OEZY tUAIY &= 500,000 11004 & 55,000
= 11,000
Al 44,000
OJdlz=dgis® 4X 100, 000 & * 12004 2 12,000
< 2,000
Al 10,000
OEZHetUHAIEE RAE=> 40,000
< 8,000
Al 32,000
OMHAE XY SORNEFHSE X
750,000 *68H 2~ 51,000
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S R
M NN QL 2s4 B
& SAUFE 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 5,400
Al 44,600
a4 222 165,297 174,765 A9,468
= 73,857
Al 91,440
ESAMFE L OHE S AKX It2tel 91,440 100,908 A9,468
201 £8-2d | 88,240 84,850 3,390
01 At 22l 73,740 71,850 1,890
ORstEINAAS =Y 70,0003 x8H 43 2,240
OMgRSZ 43 23 L 2B} +42
2,500,000 x3A 7,500
OMNESAIX It 2EF=Z(AHIRES 50%)
64,000,000& x12A 64,000
02 22224l 14,500 13,000 1,500
O=2EXNEEAAH FXE 4|
1,208,300& »12& 14,500
202 o4dl 3,200 1,600 1,600
01 = LH o4 1l 3,200 1,600 1,600
OMNESAXI SH A 20,000% *4Y =40 3,200
JHE S ALK OFE ALALS 73,857 73,857 0
= 73,857
101 @14l 19,755 19,755 0
= 19,755
04 D12t 22 s 19,755 19,755 0
OJIZHZ2=2XsS B 19,755
= 19,755
201 LB-2d| 49,504 49,504 0
= 49,504
01 At 2t 2|l 49,358 49,358 0
OMESANXIN dEx=E 45,526
= 45,526
OEZ20AY 3,832
= 3,832
02 =224l 146 146 0
OMEZSAXI REBE €3 146
= 146
202 od4dl 4,598 4,598 0
= 4,598
01 = LH o4 1l 4,598 4,598 0
OMESAIXI It ZAL (I 4,598
= 4,598
HY2FZH (22 D) 16,060 15,860 200
Jl2ZH (&) 16,060 15,860 200
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